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QUESTION 1

Which of the following utilities can be used for quick installation of pre-configured IBM Informix instances to many
computers? 

A. Ontape utility 

B. Snapshot utility 

C. Archecker utility 

D. Deployment utility 

Correct Answer: D 

 

QUESTION 2

Which of the following environment variables allow an application to specify formatting of locale-sensitive data such as
of date and currency values? 

A. DB_LOCALE 

B. GLS_LOCALE 

C. CLIENT_LOCALE 

D. SERVER_LOCALE 

Correct Answer: C 

 

QUESTION 3

What Informix data type is suitable for storing video clips up to a size of 4 TB? 

A. BLOB 

B. BYTE 

C. CLOB 

D. COLLECTION 

Correct Answer: A 

 

QUESTION 4

In what way is Enterprise Replication (ER) replication different from High-Availability Cluster (HAC) replication? 

A. All data types are replicated. 
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B. The data to be replicated is defined at an instance level of granularity. 

C. The data to be replicated can be defined at a column level of granularity. 

D. The data to be replicated can not include simple blobs stored in simple blobspaces. 

Correct Answer: C 

 

QUESTION 5

You are about to create and load a table that will initially have a size of 50,000 KB. Once the table has been loaded,
there will be very few additional inserts or updates to the table. When you create the table, which of the following extent
size definitions would make the most effective use of disk space over time? 

A. EXTENT SIZE 75000 NEXT SIZE 0 

B. EXTENT SIZE 1000 NEXT SIZE 50000 

C. EXTENT SIZE 50000 NEXT SIZE 1000 D. EXTENT SIZE 50000 NEXT SIZE 50000 

Correct Answer: C 
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